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A. Observers the other people doing
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C. Makes efforts to perform the same
by himself

D. All of the above

A S gl

B. S d»

C. S 58

D. S (bl 3 )

A. 576+
B.577-
C. 582«
D. 586+

A LS R0
B. Uy el
C.LSmy
D. s A

A. He finds an appropriate solution
B. He commits a mistakes

C. He comes across some negative
response

D. Both Aand B

A, S sl S
B. e &pas

C. J«fic &pan
D. Sle &y

A Ba S w3y
B. »f-.n,s S8 e
C. S S S8
D. Sx 058,



15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

Gpmalie S dd el

The response of an individual emerging from an experience

= S G U i S ple e S UL A e S) (o8

e gl S sl

o e S e,

= ala o3 IS Gale,

W J8 08 S da ol e o Kaa,

oS aph G S e

S o oy by (Sl

f oS onm Hule wuS e

§ LS O3 S g S S 5o 568 (el S oDl e il il Slie 5 e il iy 3 sese (il o

el e,

G G g Oasn o st S b S,

SLSass S (Js) G 2 sBigl (S o oS

a3 5 (sl S S L

GG pa pa,

S ke G S o) (Sl Jpmiy s o aal 5 3 e s il el

w >
&

ow>

owx>

cow

>

oo

oDOw

B
~

Ow>» DO

oOw» OUOwW»

Ow» DO

> 0Dow» DOWP DO
3

DOT> TO

ol
I P

Becomes neural
Becomes negative
Becomes imbalanced

Ao a5
~e ) ) jae
Ao & i e

LS Sl
Ul )y s
G )S [GITEVY

L'\}f ol )
s 8
U Jiss

B

s

5

<l

e G
[SYENGIGN LN
rﬁ)\&l)ﬁa;

LA d) oy dlae G uas
e &) pia uara o
~e A a ) e g
JT\C‘L‘JJOW
}fgl.dma\),.)“

BEX

di s

AS

it By 5ma

ST

Aaiall ™

Come ) s
Lo al #l =l
we pldl e

5

il
P PSS VEQLIST

e Bl o) e

S oy &

S il
\Su'_\zuﬁ

(KW
S S

LY

é@h}h‘ /
o S Capal S oS

<

o) salue e ool (S sl



33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

= e SIS S o 5y Cia S Sy A

§ ol S G sl (S Dl

S DS o g s deals Cladlas s 20y) S el il n S Gl

S D (S Dy S el S el ke ) )y jies g

b S alata S oG,

o8 ok S Els

S led o LB S Gl S i ) )y i G e G

W e S e

e

oo AS L 508 e dl S5,

Y% PUSPVIE TN

e S o g AL

§ 8 S S S e b o e

P PPN PP JUITN

o bisS eS Mg A S ol (S,

oS b5 e w8 Jlas

V5o Jlanind il e (pe o S (s)lo A3

>

oo

>

Sow» ODowr» O«

OCw» DO

DOT» DOmP> DO

OW>» DOUF DOEF UOW

oow

oow

> DOom» DO

EE e Calh

S
O
RIPW
S s
alas)

W

s s esle
) (S ple
Gl B )
A

o Al ) 5
s

aly

s las (BN s
G okl
Al 5 g lia S yida

el g
i

EE ]
L ol

S s

U

Gl (50
Caal S ad) e e
Gl (S 75

S s e
S SeS,e0s0

S Y e
DA S g

P yer
A S gy

e

G gd

o e

pole

~e ) (g ) (oo s S s



50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

65

66

67

WS Jsl o S8 g s e gD

In learning by trial & error, an individual

SR s S pa SS

LS Jo ool 5 (S iy s o (e 850

LS nles gy S gt S S S Gty S 8 S S A (e 0 S S e S O

Wl Sl e S o o allae 1S Lalas iy L)

§ oA oS MBS Gl # el

65 s Joal S i S 35055 e o8

el e el s S Sk S

€L Le S by Joal S U1 S 3 piile 0 6

o aaad S sl 58 g K

éﬁ%ﬁwe;}uﬁw@\@a))mwmﬂ)m

PEPL PRISKIEY

s S sl

=eboals

o e S &l

LS 5 S (sl

oow

>

DOm> DOW» TOTP> DOm

OW» DOUP UOW

Cw>» DO

DOT> DOWm» DOm»

oow

ow>» DO

L Ae A g e G jaias
LA ) iy s Db G as

Does not use his intellect
Does not commit mistakes
Does not retry after failure

e

<y

Sopd

Lo dil pim ) mdile & pms

o 8 i i s m
\.«:jaa'n]s.‘a_)m}uﬁ)m

540+
549.

571«

s ‘:Aﬁ
sl eas
sl ds

dady
G

Sl

e e

OR 3 e

sk
Sa

K dae ok sl
S dee )b el
& dee )k o
dis Saig play
dis Y elay

Yy o g Ml

e d) ey e Gpuaa

LA ) iy S sl s



68

69

70

71

72

73

74

75

76

77

78

79

80

81

82

83

84

[R

S G (S pgian ol S e S5 e K S ds sl S @i

S s 428 AN S Gl 1S

Sl Ail) IS jsaa Sl 5l

LS al (e (palye Jlall S semn 32y S aie G

ol 1S (sl

Which of the following is not necessary for the process of learning

LS AL 1S s am (S adls

L5 P18 e e o e S lladlae G,

e )

= ol (S gl ol

= lon o

S ARl K e i e Cany

Sl e 3m s JS Candy ) oDl iy s i (e L

= e e O,

wan¥y S S SN oS e

S5 e e S 5l e Cany

il S o5 S il

S Calias S oadlall 2l

OoOw

>

o>

OwW» COUP DOTP> O

DOW» DOW

DO®m » UOW

ow> DowmP

w>» DOWP UOW

Ow>» O

. Physical development
. Cognitive development
. Experience

~alald
Adal

i)

Ot ) G uzas
wbe O jan

Gl g < jasas

Cungd g
Geda g
o 5

em\ﬂcz}\ﬁw
PM‘*&:&]),\\Q){A;

Al e Jarand & pma

9 s
10 8

13 s
el e gl & pumn

Sl e wse & pma
Aol e gy O jan

=B

e ) deay adli oLl



v

86

87

88

89

90

91

92

93

94

95

96

97

98

99

100

101

102

e

il K lafie & juias,

) (S e G,

o e S S8

V52 o8 s,

e sl S s,

= e S e (e o3,

Which of the following is the first step of learning by trial & error

150 A s e o2

2 A a3 S jae G pumn,

T P U PENTE QI NN ) P )

5 S A J gy e ) o) mslre el

o R S w3 e ol gl oY g S a3l e anl Kl

O e S Osdlea

=S s ssha

§ ol Sl LS @al Sl

C.

>

B.
C.
D.

o> DOm» DOmP

ow>

Ow» UOwW» OUOW»

e d) des y Oba Holallae
B4

(pua

NN

il 5

ISESSE

2500

B

ﬁ
&

S

BBt

£
1 eom

3o
4 o
LS S
U S Cuina
U Sl

ol

Ol e

L8050

Realization of the problem
Efforts for the solution of problem
Remembering he solution of

problem

ow>

w >

O®m» DOT> DO

Cw>» DO

106~
8™
Tsom

10 Jw

12 Jw
13dws

ol S e
ol Sl
O S Giia Sl Ca

ok
B
Saad

sl e
s A
S

Lad ) sy
el (R A

L oab ) (e dlaed

e

ke Jlad

L elde Hlad

Cels Gle e
C.
D.

il



103

104

105

106

107

108

109

110

111

112

113

114

115

116

117

118

119

120

Ly 1S R sl S 2Dl 31 J8,

SRS Jeite Sa2 ol wmp (SOl Sl pSlaa Sa2dd

s Sin gl S e A o mglae el G (S e ) i e s,

= S ol (S o e

S ) s 2 12 ey SO

= o la  gsilelis,

To see the people doing and try to do the same is

= S iy ple

At birth, a child is unable to

=38 (S Je 58 Jeals ple

= Ae o) S e

b Sl elia ) (S ) g,

5‘«5&“ Cidin,

T30 S @ e,

e e S ) Ja i

=8 A

& el Al lS s

b e gl S S

B.

C

> DOw» UOWP U0WP UO0Ww Ow» UOw

oOow>» OO

el )
e &yl
GBI

Bt
8=

,"mlﬁ&j;
S pSan

e

s

aY )

st sl

e ol
& Bt

Sy S S

e ASa

. Learning by trial &mp; error

. Learning by insight
. Learning by doing

SAS
Salg

EESCSITS

Respond
. Take influences from the

environment

D

.BothAand B

A SSa Al
B. i cwld

C

ooOw

oow

ow

DOW» TOWP UOWP

DOW» DOW

Sl

]
e

Glald g s s
el s

A NILIGS-EN
~akld & pas

o
-

il

Ak
had g Caeld

S S el
S a8 Jlxie

LS s

S (Hiese

o ol
il

oAl
S @L‘Jl

tla
LU



121

122

123

124

125

126

127

128

129

130

131

132

133

134

135

136

137

138

= e 1S peS 55

s e S Gl e HeSw i n S e S 2 dA S S

=6 S b Al e ) (o ) gaan Sosd G puan,

Oy S e e S omisDy sl A

The natural changes are

= S Gl

L) s S sadly cida

¢ et S S S 8 S 2y

O e sl S5

o )R e 8 (e S S jgumn,

A child proceeds from infancy to

C @@ soomle oS g e Sae

= e G e ¢ o s )

S8 S S diew o€ laa

s ) Fhe S Gl (S 02 O e ) Sl

G ass S G 2 e,

= 15 e

a8 w2 aea 33

o

o

Owx>

oDOw

cow

DOU> DOWP» TOWw

m» CDOUP DOUP TOIH 00D

DOT» DOW

om» Dow

DOoT» DOW

3 S

58 Jala ol S e
58 S 5 s
EN I

Olie & juan
Sl o

e

u—“‘}jﬁ

e S Qg

SN
S

calall
Temporary

Neutral
None of the above

o g3

Al
(S

25 Jws

35 Jus
20 Jws

‘:M‘MXQGM}AM'_I)@
oSl e aul il & s

Al e b & pan

LS bl (el gl
RIS PAER (EPRWI
U S L sine

51 Jw

55 Juw
56 Jus

New-adolescence
Adolescence
. Maturation

(SRR
3 gusl &
B

s
(las S

e B o~
3 gl 0y
e o

o e
Jig

osll 5 5l
Ju s
Jus a3
Jus 48

A e ol (S Al
uﬁ&;@m
U5 S aseas

REPEN



139

140

141

142

143

144

145

146

147

148

149

150

151

152

153

154

155

= Gl o

PETISE PN ENS N FURE ey

%150 8 S jema

=) WS Gl S oLd

S @A gfle G juas

up S S 2l e ) H e

dtl}f i,

U G e 50 G S Bl 1S i gy

e L 1S aally (S LI Gava,

VAT JUHY. SISV

= L a5 1518 (s (e dme OB,

L) e <50 Jls S A 1S ally o (pe il L concdh

LS 10 S (B8l S o 5l S G i (S ¥ (S

Ciias S Culew eSS

R U S Sy

W iy S a5 S 7l jma

oo

>

o

oow

oow

oOw>

ow>» DOw

Ow>» U0

w» Cowp

DOW» DO

O®m» DOUP DUOT> DOW

oOw» UOwWp

1SN

12 o~
13 6o
14 o~

11 o™
13 o~
15 6o

lea
e
5 Ju

10 dws

Susd G
ae i yuas
e e
S 5
&

6 s

958

wéa\ayaglm
S S Sa

oS ol
Al

el

Sl e
Ol 053l 8
Ol Cald
= A-s‘{‘“”' LS
Caedd

kil
Jus 52

dws s
ey

el
AN
e

e il Ay Adyis gl

e il des y 2l Ll
e il dies ) Sl alal

80 Ju
51 dw
52 Jus

8 s
9 s

12 s

LG S ol



156

157

158

159

160

161

162

163

164

165

166

167

168

169

170

171

172

173

e S 8

63323 (S G slaluss (e adis D a0

R

S B S b8 oA a5 i e S a5

W (e O S paBls 1S (3al) ple

f i abie S ad s IS5 (S (daa S

=B LS S S dss) sl

e gl Sl

e Sl S Ala S i

crerialS S

= NS s

= Sl (S

= e 18 il s

1S 2l (S el s )lae

s Y 5 (S Ao Al aay Bl jes s

leilen s pspie S G s € e Al (om) (3568 jee s

WS 8 ek S a2 Hsa (e GUS 0

WS ple 5 et il

@ >

ow>

ow>

@ >

o

o0

ow» CDowp

DOowm» O

W> Uow

DOW» DOW

O®m» DOUP DO

Ow>» DO

oS

R PREA
LGy S @

72
77

80
LS &

A s
A 2aall

a5
g
(o]

5usa
6 s
8w

Ao dl o) Gl @
P PSS VEQLISTEI

N N

S REE SRSV
e ) day Gl )

A A pmy N s

)
Gy

53

58S
FICS LTS
5 IV

OsS

Jhisala

WeSa

[S53)
e
<k
[ERENNY

-

S omple
s e e
[SYEHINCPEN

e il xan y 132 alal

e il Sres; Sl Bkl
e Al dea ) rgis oLl

570s
573«
577+

Ne Al iy SE e G s
Aol o) Giia S 5l D puna
e ) (s bal gl i G pma

e

B

e
S RO SS SR



174

175

176

177

178

179

180

181

182

183

184

185

186

187

188

189

190

191

LS 351 S S35 G el ol S (e i (oS V5 (S puna o

The behavioral changes due to experiences

§ g5 e aliel S S S e

26 S D S i

U e Bl Sl

U e S o

o8 S eSS (Ktbaa e Sy s,

Qy‘skaég)\él

Which of the following is included in the concept of learning

The change due to experiences

L I ET F U P JUSTSPEN

#2223 (S lensa (o Hn Sia,

o ok Sl g S

oA AR Ly

Ll oalaa IS 5 S ) seana (e il (o nd S il g

= S S S oo Gldae S (g 0l )

=B ) i S

ot a8 Gl S da e saiglad ol

B
C

D.

ow>

oo

oow»

oow

oDOw

Cw>» DO

Ow» UDOW» DOW» TOWE TOW

COoT» DO®

Ow>» DO

Lo el
el

Sde o

Are always natural

iy il alael 5y

Gz kel

S (s plael n

el e Jil ) je & s
ol e gl & jams
e
o

g

b Gago

~S

Process
Process and change

All of the above

Are permanent

}J
S

G )8 yac Oy puan
Olie & juas

e (p ) paie
de s O e S
Cd s e Se

e OOl Lilaa

Are sometimes temporary
Are sometimes permanent

Continue throughout life
Pave he way to new changes



AL 2l ale ol @ juas

U . R B_?M‘,‘:@l‘:?.p\),\\&)_'a;
sy A L .
192 =) G s Ay C. oDl e fpassa & puan

193 wr dalse Sl el

194 =Sl s (Sae

cor» Dom»
G
b

3 e )5 o K e

&
ale

195 =~ e IS g,

. Intends to change

. Passes through an experience

196 The change in an individual occurs when he C. Passes through the learning
process

> Uow

Omt o e
el o e

197 € 5 m S o g S 13 S Gl S Sl Sl ol s S Wi 5 puma

Cow

Sae G s
S e G s
N S

198 Ol Sl ol S s S om

oow

glaa
ol
e

199 = Boe dal K g5

oow

lea
s

23l

200 G e il S5,

oDOw

40 Ju
45 J
50 J

201 o e (S ppan Gy S35l o paa aall,

10 dwe e SY
202 AL OV AU 11 e e SY

13 e g oY

571«
203 s DY (S Ao Al )y (3l e Gjuas 551,
591«

PM\JLG‘A}AQ)@
PM‘JL\_\;\QQ)A
Al e 3aje s

OW>» DOUF DOWF UOW

204 O o g e e

A Dl
205 = du 8 cliaa B.oos
C.=

A. Enables an individual to lead
successful life

B. Enables an individual to adjust in
the society

C. Enables an individual to develop
his abilities

206 The process of change

: ¥ B. Y15 s s
A G S

D. Jis Y a5l

A. Sl e Jimedd & s
208 =i S8 e eal s ~ o



209

210

211

212

213

214

215

216

217

218

219

220

221

222

223

224

225

U e Bl S e,

= Ae e GIA Cieas

Slebple zlo, 8 (B e Ce d ok S OS

5 i S e ) oy llaallae ¢ s

otk 8 85

o mn S S,

The changes due to learning

LS g 5 Al 5 s,

iy e e oS ke Al iy e Gpaa

= b (68

LS Jo o2 g e 0

WS 2yl 5 S S e & puaa,

el (S s (e daie S eSS

K3 ) K,

68 A3 (S sal e i

?d%ﬁlsu.én).‘a\.‘a

€ o5 I sy S (5000 2axS (S 381 ¢S a5y e Gl B 2y S iy

PO PRSP
e)u\ﬁd;w)a\u)a;

(st
]

g

ow» oOC

LS aadi Jle
U aas
Udla

oow

LKndd
Lesodd
JOOY

DOW> UOW
@

w>r DOow
F

D. BIFVREN

A. Do not leave any effect on

individual's behavior

B. Are not concerned with

environment

. Are concerned with heredity

D

A. 6 s>
B. 8 s~
C.9 6o~

.35 o=

A

C.42 s~
D. 45 s~

A S QB 5Gna

C. Jexi gyma
D. oS ciide

C. (e & juan

DOW» DOw

2 6o

4 s
5™

52
JL:

&l

Ow» DOwr

~e d) (o) Adile O s

~e A oany aabdld o juan
Ao dl oay ly) C s

> oowp

16

)

18



226

227

228

229

230

231

232

233

234

235

236

237

238

239

240

241

242

LS Jo 2Dl 2y m e S nie ) a0 e e ae dl (pda ) jee s

g o S S s Al G,

59 a8 a3 ) 59 oS e K g 1S Q3

2ol O Bihe S g5 0L )

U e S G

€ G S TG S35 lan S 3 S8 ma L ) s it G paa

iy e s S S dilae G pias

G S e e S 2 )80

§ e Sl e (e G S e ) a ) ee s

= S (S

U e i S e,

= 3l e = éé-\_) &:“JL:

oot M Sye Jin Jlai (S 28 Dpan

V30 b by O saluss,

€ g8 oLl IS Se (1€ a5 g el

G S Gl ses l ade Jiin 0 2ea) plal ¢ il alal «Sdle plal ¢ igin alal o jina

= et KR sldaa S (558 Cana

o

w> O

o

oOw>

oo

oo0ow

W» DOUP O

OW>» DOWP UOW

OW» CUOWP UOWP» UOmP

w > UDOWP

DOT» DOW

2R 2

2y e S
A (Y 0 )My

8
12

14
2 S e
_)ih;'}&‘)k‘_\,\“

p B syl

PR
1S ) silen) ala

S el (S sl osis
LS (S

U?:'c“‘j‘
L3

5 s

Glas,
U S Ml

S5 e
S o

Sy (A

,5&@1@")}\__‘}\\&)@

L) e ) (iay sl G s

L oA Al ) jee s

L S N

2y S s Al

e
o
e

o2l ) CdDA ) 9

el s 5
bl s

Y5 S e (S kb
Vs S e
s S sy e S



243

244

245

246

247

248

249

250

251

252

253

254

255

256

257

258

259

G i lha 1S S Jlile

Drinking water to extinguish thirst is

Learning is a

il ally S nie il (pm ) jae Sy pas

e Sl

G pldl S B,

6 s S Bhed msa e ne bl o (B0l e

226 S Gl (S G S

A e abie e

The direct experience

= Al

LS o L8 S S G 3 S (e i,

165618 ul L LS U8 S ol (Sl s 5 e s,

ey S

The act of imitation

= s daals Glisehal S s,

B. & s>
C. &
D. S usoms

B. An imitative act
C. An emotional act
D. A social act

A. Continuous process

B. Process which brings about
changes

C. Process which brings about
behavior modification

A iy e & juan
Ao A pda ) (s O puas

Ao dl oy e Gpdilae Gpas
SORs S cnsa

S e
S

Yy i
Vi s

Yy e oS

m» CDOUP DOWP DOTF UOTP U0
[ " "
b

o

B. Is not concerned with the
environmental stimulus

C. Has no effect on the individual
D. Is concerned with the social laws

RSVESPI T
L e S 058 sadle
e el

OoOw

Olie & puan
Sasd) Qs
e s
s
pad 5
S 5
e

-
A~
e

N =

4

. Continues throughout life
. Is concerned with observation
. Is concerned with repetition

OW» CDOWP DOTP DOUP U0

o de
o S
L asic

ow>

A LS e



260

261

262

263

264

265

266

267

268

269

270

271

272

273

274

275

276

277

L.}LXU:ALSLJLAQ

6‘1:.,%5\"‘\&”3‘._",

= a5 e S5l dla sl el dla o S GlaIL ala" o J 8 1S (8"

EL

o8 TS Mand (S shalise (e mlim o (5 s

¢ (el Ui S (S ne il (m ) Aadd D juas

= P o e SIS ) Al

oo S Bl S B

& o sls s,

WS s o2 5 (S oy s o (e 0320

Wl @l 8" gl 8 pe” S dana S

—es RS Gl

e S e,

5y s Slad gy 3 ) sms,

= A dae,

" se " e,

Sl i ) s sl gl )

C.
D.

w >

oow

ocow

ow» CDowp

ow» DowP

Ow>» O

DOW» O 0w

oW

COm> DO

DOT> DOW

DOW» DO

S s
U

ol
e 30
P
e A das  adtis 5 ol

~de ) dian il alal
e il Nany 132 Bl

Ju

et
w2
72

77
80

5

2000:l
200 oL
600 -l

RAEN
G3sla
S a2
ayg

Jus (s

N dl o e ¢ s

LA d) o Gle O
Lo Al a5 8 e G yias

L Aie A da ) Bale (G dmas e

Ne ) piay aliy ) oA

oSl
A ia

S

L e
U
Ly,

e AxS AMA

e [N u}gﬁ

Al S S p S8
s palaa

o=
=S e
S sl
Lo b A
LS il

g
e

aY )



278

279

280

281

282

283

284

285

286

287

288

289

290

291

292

293

294

295

(o5 31305 S (ke e plainl 5 S e il e

Ll S e ) oaa ) Graaan S50 5 D pas (e il e

iesde Kok,

L B S D S mas)

e LS e S 5

g AL 8 Sa2 Gl sie d) oy ) (G nie

N e

A LS wans (Sl S e G,

G U O e 50 S S R

€ Ul gl ¢ e oy S Gl S W 532 ol GBleie S ks S

= e (S e o S

Ll A8 LS () G S e dl (om0 jen G pms

e s S gl

e b S Gl S i s

= ) G Giae S s,

LS 1) o i e i) iy oS s S ol ey S rie bl ) ) gumna

S, Ut S pail i s Sl ol o

oo
N
o

oow

W> Uow
[y
L
i
15

S

1Y
35 yal

ol e 7 5 < s
Al e i & pas

OW» DOWP DO O

em\,‘_ﬂswja\du.'a;

oow

w o

usele

e ) e
(IS PSVERET S
&l gl

a5 )

13

DOU» DOWP» TOUP DOUP 00w

JT\CUMGS\A;
5 Cualla Sl
spatia S celll S s

Liand

BBy
BB
D ey

OW» COUP DOW

U< sl

Us ol sA
L'\):\ saaia

LS 5 S

L W
/‘L\L/\Als

JOwm» DOoOwP



296

297

298

299

300

15 oonl ale,

65 o i S S5 1S e s,

§ e b 3l i1 T (e i 1y

$ S 8 S oS e o S Ll

A 6 s

C. 8 s~
D. 9 s~

Ao A a3 srase O dilae G pas
N Al iay Coge (p ea llae G juas

~e dl pmy clie op e O uas

> Dowp

Lol a3 i

C. @8l e
D. ol ék



